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1)  Structural:	
  say	
  only	
  1	
  memory	
  for	
  instruc6on	
  read	
  and	
  the	
  MEM	
  stage.	
  That	
  is	
  a	
  
structural	
  hazard.	
  We	
  have	
  designed	
  the	
  MIPS	
  ISA	
  and	
  our	
  implementa6on	
  of	
  
separate	
  memory	
  for	
  instruc6on	
  and	
  data	
  to	
  avoid	
  this	
  problem.	
  MIPS	
  is	
  designed	
  
very	
  carefully	
  to	
  not	
  have	
  any	
  structural	
  hazards.	
  

2)  Data	
  hazards	
  arise	
  when	
  data	
  needed	
  by	
  one	
  instruc6on	
  has	
  not	
  yet	
  been	
  
computed	
  (because	
  it	
  is	
  further	
  down	
  the	
  pipeline).	
  We	
  need	
  a	
  solu6on	
  for	
  this.	
  

3)  Control	
  hazards	
  arise	
  when	
  we	
  don’t	
  know	
  what	
  the	
  PC	
  will	
  be.	
  This	
  makes	
  it	
  not	
  
possible	
  to	
  push	
  the	
  next	
  instruc6on	
  down	
  the	
  pipeline.	
  Till	
  we	
  know	
  what	
  the	
  
issue	
  is.	
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Nothing:	
  Modify	
  ISA	
  to	
  match	
  implementa6on	
  (not	
  great	
  as	
  an	
  op6on,	
  
violates	
  abstrac6on.	
  Requires	
  restructuring	
  by	
  applica6on.	
  Might	
  not	
  always	
  
be	
  possible).	
  	
  
Stall:	
  Pause	
  current	
  and	
  all	
  subsequent	
  instruc6on	
  
Forward/Bypass:	
  Steal	
  correct	
  value	
  from	
  elsewhere	
  in	
  pipeline	
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Note	
  that	
  the	
  arrow	
  is	
  not	
  going	
  backward	
  in	
  6me.	
  



See	
  where	
  the	
  hazard	
  detec6on	
  is.	
  Forward	
  unit	
  is	
  in	
  the	
  execute	
  stage,	
  
because	
  that	
  is	
  where	
  you	
  actually	
  need	
  the	
  data.	
  	
  



Why	
  is	
  the	
  forward	
  unit	
  here.	
  Because	
  it	
  does	
  not	
  need	
  to	
  be	
  earlier.	
  
	
  



assumes	
  (WE=0	
  implies	
  rD=0)	
  everywhere,	
  similar	
  for	
  rA	
  needed,	
  rB	
  needed	
  
(can	
  ensure	
  this	
  in	
  ID	
  stage)	
  
	
  





assumes	
  (WE=0	
  implies	
  rD=0)	
  everywhere,	
  similar	
  for	
  rA	
  needed,	
  rB	
  needed	
  
(can	
  ensure	
  this	
  in	
  ID	
  stage)	
  
	
  



assumes	
  (WE=0	
  implies	
  rD=0)	
  everywhere,	
  similar	
  for	
  rA	
  needed,	
  rB	
  needed	
  
(can	
  ensure	
  this	
  in	
  ID	
  stage)	
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oYen	
  see	
  lw	
  …;	
  nop;	
  …	
  
we	
  will	
  stall	
  for	
  our	
  project	
  2	
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requires	
  one	
  bubble	
  
	
  
	
  



Need	
  to	
  go	
  back	
  in	
  6me	
  
	
  
	
  



requires	
  one	
  bubble	
  
	
  
	
  



It	
  happens	
  in	
  an	
  earlier	
  stage.	
  You	
  stall	
  since	
  you	
  don’t	
  want	
  to	
  go	
  ahead	
  from	
  
the	
  ID	
  stage	
  unless	
  you	
  are	
  ready.	
  
	
  
Walk	
  through	
  what	
  happens	
  with	
  a	
  	
  



oYen	
  see	
  lw	
  …;	
  nop;	
  …	
  
we	
  will	
  stall	
  for	
  our	
  project	
  2	
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Find	
  all	
  hazards,	
  and	
  say	
  how	
  they	
  are	
  resolved	
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Find	
  all	
  hazards,	
  and	
  say	
  how	
  they	
  are	
  resolved	
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Find	
  all	
  hazards,	
  and	
  say	
  how	
  they	
  are	
  resolved	
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1:	
  ISA	
  6ed	
  to	
  impl;	
  messy	
  asm;	
  impl	
  easy	
  &	
  cheap;	
  perf	
  depends	
  on	
  asm.	
  
2:	
  ISA	
  correctness	
  not	
  6ed	
  to	
  impl;	
  clean+slow	
  asm,	
  or	
  messy+fast	
  asm;	
  impl	
  easy	
  and	
  
cheap;	
  same	
  perf	
  as	
  1.	
  
3:	
  ISA	
  perf	
  not	
  6ed	
  to	
  impl;	
  clean+fast	
  asm;	
  	
  impl	
  is	
  tricky;	
  best	
  perf	
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Q:	
  what	
  happens	
  with	
  branch/jump	
  in	
  branch	
  delay	
  slot?	
  
A:	
  bad	
  stuff,	
  so	
  forbidden	
  
Q:	
  why	
  one,	
  not	
  two?	
  
A:	
  can	
  move	
  branch	
  calc	
  from	
  EX	
  to	
  ID;	
  will	
  require	
  new	
  bypasses	
  into	
  ID	
  stage;	
  or	
  can	
  
just	
  zap	
  the	
  second	
  instruc6on	
  
Q:	
  performance?	
  
A:	
  stall	
  is	
  bad	
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Q:	
  what	
  happens	
  with	
  branch/jump	
  in	
  branch	
  delay	
  slot?	
  
A:	
  bad	
  stuff,	
  so	
  forbidden	
  
Q:	
  why	
  one,	
  not	
  two?	
  
A:	
  can	
  move	
  branch	
  calc	
  from	
  EX	
  to	
  ID;	
  will	
  require	
  new	
  bypasses	
  into	
  ID	
  stage;	
  or	
  can	
  
just	
  zap	
  the	
  second	
  instruc6on	
  
Q:	
  performance?	
  
A:	
  stall	
  is	
  bad	
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branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



Q:	
  what	
  happens	
  with	
  branch/jump	
  in	
  branch	
  delay	
  slot?	
  
A:	
  bad	
  stuff,	
  so	
  forbidden	
  
Q:	
  why	
  one,	
  not	
  two?	
  
A:	
  can	
  move	
  branch	
  calc	
  from	
  EX	
  to	
  ID;	
  will	
  require	
  new	
  bypasses	
  into	
  ID	
  stage;	
  or	
  can	
  
just	
  zap	
  the	
  second	
  instruc6on	
  
Q:	
  performance?	
  
A:	
  stall	
  is	
  bad	
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branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
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  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
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branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



Q:	
  what	
  happens	
  with	
  branch/jump	
  in	
  branch	
  delay	
  slot?	
  
A:	
  bad	
  stuff,	
  so	
  forbidden	
  
Q:	
  why	
  one,	
  not	
  two?	
  
A:	
  can	
  move	
  branch	
  calc	
  from	
  EX	
  to	
  ID;	
  will	
  require	
  new	
  bypasses	
  into	
  ID	
  stage;	
  or	
  can	
  
just	
  zap	
  the	
  second	
  instruc6on	
  
Q:	
  performance?	
  
A:	
  stall	
  is	
  bad	
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Pipeline	
  is	
  humming	
  



branch	
  decision	
  in	
  EX	
  
need	
  2	
  stalls,	
  and	
  maybe	
  kill	
  	
  



Q:	
  what	
  happens	
  with	
  branch/jump	
  in	
  branch	
  delay	
  slot?	
  
A:	
  bad	
  stuff,	
  so	
  forbidden	
  
Q:	
  why	
  one,	
  not	
  two?	
  
A:	
  can	
  move	
  branch	
  calc	
  from	
  EX	
  to	
  ID;	
  will	
  require	
  new	
  bypasses	
  into	
  ID	
  stage;	
  or	
  can	
  
just	
  zap	
  the	
  second	
  instruc6on	
  
Q:	
  performance?	
  
A:	
  stall	
  is	
  bad	
  
	
  
	
  
GPUs	
  have	
  such	
  long	
  pipelines	
  it	
  is	
  just	
  not	
  realis6c	
  to	
  add	
  delay	
  slots.	
  So	
  the	
  penalty	
  
of	
  branching	
  is	
  very	
  high	
  typically.	
  Various	
  architectural	
  approaches	
  to	
  address	
  that.	
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Q:	
  How	
  to	
  guess?	
  
A:	
  constant;	
  hint;	
  branch	
  predic6on;	
  random;	
  …	
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Sates	
  is	
  a	
  2	
  bit	
  predic6on	
  scheme	
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Q:	
  what	
  if	
  we	
  had	
  a	
  “copy	
  0(r3),	
  4(r3)”	
  instruc6on,	
  as	
  the	
  x86	
  does,	
  or	
  “add	
  r4,	
  
r4,	
  0(r3)”?	
  
A:	
  structural	
  hazard	
  


